< & ¢@>(rad)
o
=
[¢)]
IIIIIIIIII

o
w
T T

=
iN
I

2 3
TPlp(?T (PCA t%obeamlinéLP

[y
o
[y
o

o]
(@)

[e2]
(@)
[e2]
(@)

< 04,y > (Um)
< 8d,> (um)
[e]
o
IIIIIIII

o

(AR RARNRRAN|
?-ﬁ+
IR
..i :
e

40 QO+ {rrrerbe bl
20F 20 {- S i e e
OF--- |{ -sosrmummanatapmanmad -1 O g e sne s alang g T [ { B
-20F =20 Peneeeees f Sl SREEEEREEERE
u E : +

-40F —4OF- - { e SRSRSEEE (SRR
-60F- —60F---- -+ B R R STIRIts
L0 xTE] | R EELRRPTRE SPTRP R SRR —GOF- [+
9_10 ; 1 |r IRETT| L 9_10 ; 1 |||||! EEERET| L T L
= 15F - 2 2 B PR RO 1 A 1

o 3 ¥ o r 1,11 4 1
15 [ 1:_. 44 -l; x| .4 f |5 4T -----------

0.5k 1] FARRRERREEEED E 1 T 4, T

107 1

[N

o
I8

[N

2 3
TPl;g)T (PCA t:(L)obeamIinéLP

e

L

IIIIIIII|I|IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
| {

= = -

< opJp, > (%)

.........................................

s
¥

i
o -5 = [
ie) +:
] 2 A
24 +4

h Tel el

iy

+114

10 1 Trl'r%T (PCA %gzlz)eamliné'f)o3



	Contents
	Page 1


